XSV
e HANSAVFLEX

]

swW 51

BO1+2 KREISRE B AT o
j w
BHER1+2 20°8 - _ i
CEoEE] R R [ N
V-3 b [ESE] E! @
LY DIN 2353 v 1
ISO 8434-1
fiesam BETHHERIMIIR)
Eﬁ m —Iul-—l L2 Ll
FRERP BERE
B’Bx
BXRE, EA. EHAAEAATNIERENHAELSASTRREENERER.
# &
SR IHEEDE

XSV NW 04 HL L PN 315 6 M12x1.5 27,0 7,0 17 17
XSV NW 06 HL L PN 315 8 M14x1.5 27,0 8,0 19 19
XSV NW 08 HL L PN 315 10 M 16 x 1.5 28,0 10,0 22 22
XSV NW 10 HL L PN 315 12 M18x 1.5 29,0 10,0 24 24
XSV NW 13 HL L PN 315 15 M22x1.5 31,0 12,0 27 30
XSV NW 16 HL L PN 315 18 M26x1.5 325 13,5 32 36
XSV NW 20 HL L PN 160 22 M30x2 345 16,5 36 41
XSV NW 25 HL L PN 160 28 M 36 x 2 355 18,5 41 46
XSV NW 32 HL L PN 160 35 M45x 2 36,5 18,5 50 55
XSV NW 40 HL L PN 160 42 M 52 x 2 36,0 19,0 60 65
XSV NW 03 HS S PN 630 6 M14x1.5 29,0 12,0 19 19
XSV NW 04 HS S PN 630 8 M16x1.5 29,0 13,0 22 22
XSV NW 06 HS S PN 630 10 M18x1.5 29,5 14,5 24 24
XSV NW 08 HS S PN 630 12 M20x1.5 30,5 14,5 27 27
XSV NW 10 HS S PN 630 14 M22x1.5 32,0 17,0 30 30
XSV NW 13 HS S PN 400 16 M24x1.5 31,5 16,5 32 32
XSV NW 16 HS S PN 400 20 M 30 x 2 33,5 17,5 41 41
XSV NW 20 HS S PN 400 25 M 36 x 2 35,0 20,0 46 46
XSV NW 25 HS S PN 400 30 M42x 2 375 21,5 50 50
XSV NW 32 HS S PN 315 38 M52 x2 37,0 22,0 65 65
GEHMRFLL=FER =R S=E - PN=#IEESH PB=|RAI{EDH - 0d2=BHER
FREA
XSV VA HEEBERIERE T8N
sV HSBREE W

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



